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QUESTION 1

An administrator discovers that virtual machine migrations with encrypted vMotion have failed. Which action can resolve
this issue? 

A. Use vSphere Update Manager to upgrade all hosts to ESXi 6.5 

B. Install a USB decryption dongle on all hosts in the cluster 

C. Disable Strict Lockdown mode 

D. Use esxcli to enable encrypted vMotion 

Correct Answer: A 

 

QUESTION 2

The administrator wants to power on VM-K2, which has a 2GHz CPU reservation. VM-M1, VM-M2, and VM-K1 are all
powered on. VM-K2 is not powered on. 

The exhibit shows the parent and child resource reservations. 

If Resource Pool RP-KID is configured with an expandable reservation, which statement is true? 

A. VM-K2 will be unable to power on because there are insufficient resources. 

B. VM-K2 will be able to power on since resource pool RP-KID has 2GHz available. 

C. VM-K2 will be unable to power on because only 2GHz are reserved for RP-KID. 

D. VM-K2 will receive resource priority and will be able to power on this scenario. 

Correct Answer: A 
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QUESTION 3

Which statement is correct when migrating from a Windows vCenter Server to the vCenter Server Appliance 6.5? 

A. Migration deployments do not migrate local OS users from the source vCenter Server. 

B. Migration deployments support DHCP on the source vCenter Server. 

C. Migration deployments allow the source vCenter Server to remain powered on afterwards. 

D. Migration deployments support custom ports for all services on the source vCenter Server. 

Correct Answer: A 

 

QUESTION 4

A scripted upgrade of ESXi fails due to an incorrect parameter in the upgrade script. 

What file must the administrator modify to correct the problem? 

A. boot.cfg 

B. vmreconfig.pl 

C. ks.cfg 

D. hostinfo.pl 

Correct Answer: A 

 

QUESTION 5

In vCenter Server 6.5, Host Customizations within Host Profiles be exported as which two formats? (Choose two.) 

A. .xlsx 

B. .csv 

C. .ova 

D. .xls 

E. .vpf 

Correct Answer: BE 

Latest 2V0-622D Dumps 2V0-622D PDF Dumps 2V0-622D Practice Test

Powered by TCPDF (www.tcpdf.org)

Latest 2V0-622D Dumps | 2V0-622D PDF Dumps | 2V0-622D Practice Test                                3 / 3

https://www.passapply.com/2v0-622d.html
https://www.passapply.com/2v0-622d.html
https://www.passapply.com/2v0-622d.html
http://www.tcpdf.org
https://www.passapply.com/2v0-622d.html
https://www.passapply.com/2v0-622d.html
https://www.passapply.com/2v0-622d.html

